
tippy tap construction guide



table of contents

PG 3

 

PG 4 

PG 5

PG 6 

PG 7

PG 23

introduction

General assembly

materials & cut list

suGGested tools

steP by steP instructions

tiPPy taP siGnaGe (Print)

2



introduction

this guide illustrates how to build a simple handwashing station using 

low cost materials and methods. We encourage you to modify the 

design as needed to suit project application and availability of tools 

and materials. the lists of suggested tools and materials provided in 

this guide are specific to the model illustrated in this document. to see 

a more simple design with backyard materials and more resources on 

tippy taps, visit watershedmg.org/tippytap.

beyond the construction of the tippy tap, its upkeep and use will also 

determine its success as a hand washing station. make sure to have a 

system to refill the water jug frequently. a one gallon jug has enough 

water for 15 to 30 people to wash their hands (depending on how efficient 

they are). the communal bar of soap is a standard element of the tippy 

tap design. this is not a sanitation concern; a good lather of soap kills 

any residual germs that may be living on the bar. For drying hands, we 

suggest air drying, and not providing a communal towel. 

3

http://watershedmg.org/tippytap


general assembly

a. leg

b. Foot

c. cross member

d. rod

e. brace

F. Pedal

G. eye screw

H. exterior screw

i. Pocket screw

1

2

3

4

a

a

B

B

d

h

pedal option B

FRont Side view

KeY

e

F

G

G

G

G

G
G

F

e

c i

c



materials & cut list

•	 (1) 4”x 4”x 6’ lumber

•	 (2) legs @ 32”

•	 (2) 2”x 4”x 6’ lumber

•	 (2) Feet @ 32”

•	 (2) cross members @ 32”

•	 (1) ½”x 10’ emt conduit

•	 (1) rod @ 36”

•	 (2) braces @ 15”- 18”

•	 (1) Pedal @ 21” (Pedal option b)

•	 (16) #8 x 3” exterior screw

•	 (1) #8 x 2” Pocket screw (or screw w/ Washer)

•	 (2) #8 x ½” screw eye

•	 (1) ~4” extension spring

•	 (1) Jug (Handle design is important)

•	 (1) bar soap

•	 (1) ½” Key ring (or bailing Wire / other clip)

•	 (1) spray Paint (designed for Plastic)

•	 (1) ~¾”x 2”x 17” Wood survey stake (Pedal option a)

•	 (2) ½” emt 2-Hole strap                                                                 

(optional - 4 additional #8 x 3” screws needed)

•	 ~60” mason’s / landscaping line

•	 ~30” rope

•	 tape or cap for end of emt conduit

5



suggested tools

•	 drill

•	 impact driver

•	 Hacksaw

•	 circular saw

•	 ¾” Forstner bit

•	 1/8” drill bit

•	 3/16” drill bit

•	 ½” drill bit

•	 speed square

•	 side cutting Pliers

•	 tape measure

•	 sledge Hammer

•	 anvil / concrete slab

•	 scissors

•	 lighter

•	 Pencil

•	 PPe

6



step by step instructions

7



prep Jug

•	 drill 1/8” vent in a location that will remain above the water level 

whether the jug is in resting position or pouring position

•	 drill 1/8” spout which will be above the water level when jug is in 

resting position and allow water out when in pouring position

•	Wipe jug clean with cloth (optionally, use vinegar / solvent)

•	 Paint Jug with primer designed for plastics (optional)

•	 Paint Jug with paint to reduce uV damage and algae growth

•	 allow to dry

1

8



measure & cut lumber

•	 (2) 4”x 4” legs @ 32”

•	 (2) 2”x 4” feet @ 32”

•	 (1) 2”x 4” top cross member

•	 (1) 2”x 4” lower cross member

2

9

32”32”



measure & cut emt conduit

•	 (1) rod @ 36”

•	 (2) braces @ 15”- 18”

•	 (1) Pedal @ 18” (Pedal option a)

•	 use sledge hammer to smash ends of braces (keep conduit weld 

away from the fold) 

•	 drill pilot holes through the smashed ends of braces

3

10

15
”-1

8”

co
nduit w

eld



drill rod guides

•	 measure +/- 3” from top of leg centers

•	 bore ¾” hole through each leg (use drill press if available)

4

11

3”
3”

¾”



connect legs to feet

•	 measure to find center of foot

•	 drill two pilot holes through the foot and into the leg (be sure rod 

guide is perpendicular to the length of the foot) 

•	 drive #8 x 3” screws to connect the leg to the foot

5

12

16”



connect cross members

•	 square the edge of the lower cross member to the leg and foot

•	 drill two pilot holes through the lower cross member into the foot

•	 drive #8 x 3” screws to connect lower cross member to foot         

(the side of the leg with the lower cross member will be referred to 

as the back side of the tippy tap)

•	 square upper cross member to leg

•	 drill two pilot holes through the upper cross member into the leg

•	 drive #8 x 3” screws to connect the upper cross member to the leg

6

13



connect braces

•	 drill pilot hole in the inside face of leg @ 8” -  10” up from bottom of 

leg and 1½”  in from back of leg

•	 drive #8 x 3” screw to begin to fasten brace to leg, allowing brace 

to rotate freely

•	 mark and drill pilot into foot where pilot hole in brace aligns with 

center of the foot

•	 drive #8 x 3” screw to connect brace to foot, tighten

•	 tighten initial screw (brace – leg)

7

14

8-
10

”

1½”



connect foot pedal

Pedal option a

•	 drill a pilot hole in survey stake @ centered 1” from squared end

•	 drill a second pilot hole in survey stake centered @ 13” from 

squared end

•	  drill a pilot hole in foot on outer face centered @ 1” from front end

•	 drive #8 x 2” pocket screw to fasten survey stake (foot pedal) to 

foot, allowing pedal to move freely

Pedal option b

•	 drill a pilot hole in foot on outer face centered @ 1” from front end

•	 drive #8 x 2” pocket screw to connect pedal to foot, allowing pedal 

to move freely

8

a B

15

1”

13”



install rod

•	 deburr the cut ends of the rod

•	 send rod through one of the rod guides; if rod doesn’t glide freely, 

ream guides w/ forstner bit or other

•	 before rod reaches other guide, slide the rod between jug* handle

•	 Finish sending rod until end is just short of protruding through the 

second leg

•	Wrap portuding end of rod with tape to provide grip for use as a 

handle, or use end cap

*Paint and drill jug before starting tippy tap construction

9

16



install eye screws10

•	 drill pilot hole in front face of upper cross member centered           

@ 10½” from right side (21½” from left side)

•	 drill pilot in front face of left leg @ 10” up from bottom and 1” from 

right side of leg

•	 screw eye screws in tightly

Pedal option b

•	 drill pilot in back face of left leg @ 10” up 10 from bottom and 1” 

from left (see pg 4)

17

10
½

”

1”

21½”



connect spring to eye screw

•	 use a key ring or bailing wire to connect one end of the spring to 

the eye screw

11

18



add soap

•	 tie a loop in rope; use to secure rope around rod to the right of jug

•	 drill hole through center of soap slightly larger than rope

•	 Push rope through soap and tie knot to secure bar

12

19



connect line to Jug

•	 tie a loop in mason’s line

•	 send loop through open end of the spring

•	 use loop to make a slip-loop around the mouth of jug

13

20



connect line to pedal

•	 send the other end of the mason’s line through the lower eye screw 

then through the open pilot hole in the foot pedal

•	 Pull slack through the foot pedal and set the upper limit of travel

•	Wrap the line around the foot pedal to use up slack

•	 tie off remainder of line

14

21



22



insert tippy tab instruction 

pdf for print

Tippy Tap
Step on the wood 
lever to wet your 
hands and the bar of 
soap. Release it and 
lather up! Step on it 
again to rinse off. 

Lavamanos
Aplaste el “pedal” 
de palo-madera para 
enjuagar sus manos y 
jabón. ¡Suelte el pedal 
y enjabonarse! Aplaste 
el pedal de nuevo para 
enjuagarse. 

Hand Washing Station

This System:
1   Lather your hands by rubbing them 

together with the soap. Lather the 
backs of your hands, between your 
fingers, and under your nails.

2   Scrub your hands for at least 20 
seconds, then rinse.

3  Prevents the passage of unwanted 
germs because it is hands free.

Este Sistema:
1  Enjabona tus manos frotándolas con 

el jabón. Enjabona detrás de tus 
manos, entre tus dedos y debajo de 
tus uñas.

2  Frote sus manos por lo menos 20 
segundos, luego enjuague.

3  Previene la contaminación de 
gérmenes ya que no se usan las 
manos para activar.

23


